>
@
o

(*3) 2 REQD

SEE NOTE 2

NOTES:
1. ITEM 25 NOT SHOWN FOR CLARITY.
2. IF UPGRADING TO AIR TUBE, ITEM 3

MUST BE REPLACED BY 50422 (QTY. 2).

REVISIONS
ZONE] REV DESCRIPTION BY/DATE

A [ReELEASE KP-7/17/01
Al_|PICTURE UPDATE PER IT.S 3 & 19 KP-8/13/01
B |COMPLETE REDESIGN KP-11/27/01

DELETE IT. 6;IT'S 1-4 CHG(PICTURE ONLY) KP—3/4/02

IT.7 WAS 05441-02;IT.12 WAS 05460-01;IT.16 WAS COUP—CT/004 | KP—4/3/02
D1 |PICTURE CHG ONLY(TS 7, 8 & 12) KP—4/22/02 | 1
E |DEL IT. 14; IT. 13 WAS BOLT-HHD4X32 & QTY WAS 1| KP-5/9/02
F_|CHG IT. 18 WAS CYL—PIN/03;ADD ITS. 21, 22 KP—6/17/02
F1 | ADD ITEM NUMBER TO TITLE BLOCK KP-8/9/02
G |ADD ITEM 23 KP-9/20/02
H [ADD IT'S 24-28 & NOTE 1:IT. 19 QTY WAS 2 KP—03/03/03
J |ADD IT. 20 KP-5/12/03
K |DEL IT. 1—UPDATE VWS;SEE SHT. 2 KP-3/21/05
KI |SEE SHT. 2 KP—3/26/08
K2 |PICTURE CHG ONLY — UPDATED IT. 3 KP—7/28/08

IT.27 QTY WAS 1;DEL ITs 13 & 28 (ECO R—0416) KP—6/21/18
M [ADD NOTE 2 (ECO R-0745) KP-5/26/20

29 | FLOOR STOCK

SCREW, SHS, ©.375 x 1.00 (5/16—18)

27 |BOLT-SS1/4X3

N

SCREW, SET— CUP PT, 1/4-20 x 3.00LG

26 [SWMITCH-DH7CL

SWITCH, AUTO, 24V

25 | SWMITCH—BAN/01

CLAMP, BAND

24 |FLOW-FCAS/03

CONTROL, FLOW, 1/8NPT x 1/4t

23 18192

BRACKET, HT ADJ

22 | FLOOR STOCK

NUT, HEX, JAM, #7/16-14

21

18174

CLEVIS, TWO POSITON—SIDE

20 | FLOOR STOCK

WASHER, FLAT #3/8

19

FLOOR STOCK

NUT, HEX, JAM, #1/4—20

18

CYL—PIN /05

PIN, CYLINDER

17

CYL—NCD/04

CYLINDER, 1.50 BORE x 6.00 STK

16

COUP—CT/005

COUPLING, SHAFT, 1.00 x .25

15

BOLT-SB5/16X2.2

SCREW, SHS, ©5/16 x 2.25 LG (1/4—20)

o

12

10216-03

SHAFT, VARIOUS-.25 DIA

"

05458

KNOB, MODIFIED

10

05444

NUT, MODIFIED #5/8—8 (LH)

9

05443

NUT, MODIFIED #5/8—8 (RH)

05442

ROD, BACK FLAP—RH

05460-01

ROD, SIDE COMPR. FLAP—-LH

05422

WELDMENT, ADJ. BAR-SIDE COMPRESSION

8
7
5
4

05421

WELDMENT, BRACKET—PIVOT SUPPORT

*3

05420

WELDMENT, PIVOT—ARM—SIDE (COMPR. FLAP)

= ININN == === =N NIN NN NN = (NN N

2

05367

PLATE, STATIONARY

QTY | ITEM

PART NO.

DESCRIPTION
JON_BARRETT RD

THE _MATERIAL CONTAINED

HEREI

TO REELEX PKG

N_IS PROPRIETARY
S(SJ_II_. S

AND SHALL N
REPRODUCED, DISCLOSED
OR USED FOR_ANY_ OTHER

PURP
WRITTEN
REELEX

OSE WITHOUT THE
APPROVAL OF
PKG SOL'S, INC.

INC.

39
PA ERS%NY‘IZSGJ
-Rﬂx F85678 780
F:845.878,7884
PACKAGING SOLUTIONS INC. WW.REELEX.COM

COMPRESSION FLAP ASSY—
SIDE (BOX TABLE)

& =

THIRD_ANGLE PROJECTION

”COMPRESS-FLAP/S”

SIZE [PART/DWE NO. REV.
| 05052 M

FILENAME: N: \MECHDWGS'\DWGS\ 05052

SCALE 1/2

DRAWN KP  DATE 11 /15/01 [SHEET 1 oF 2



AutoCAD SHX Text
D

AutoCAD SHX Text
E

AutoCAD SHX Text
C

AutoCAD SHX Text
B

AutoCAD SHX Text
A

AutoCAD SHX Text
C

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
B

AutoCAD SHX Text
A

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
ZONE

AutoCAD SHX Text
RELEASE

AutoCAD SHX Text
A

AutoCAD SHX Text
REV

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
BY/DATE

AutoCAD SHX Text
KP-7/17/01

AutoCAD SHX Text
D

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
QTY

AutoCAD SHX Text
PART NO.

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
2

AutoCAD SHX Text
*3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
7

AutoCAD SHX Text
8

AutoCAD SHX Text
9

AutoCAD SHX Text
10

AutoCAD SHX Text
11

AutoCAD SHX Text
12

AutoCAD SHX Text
15

AutoCAD SHX Text
16

AutoCAD SHX Text
17

AutoCAD SHX Text
18

AutoCAD SHX Text
19

AutoCAD SHX Text
20

AutoCAD SHX Text
05367

AutoCAD SHX Text
PLATE, STATIONARY

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
COMPRESSION FLAP ASSY- SIDE (BOX TABLE) "COMPRESS-FLAP/S"

AutoCAD SHX Text
KP-8/13/01

AutoCAD SHX Text
PICTURE UPDATE PER IT.S 3 & 19

AutoCAD SHX Text
A1

AutoCAD SHX Text
1

AutoCAD SHX Text
05442

AutoCAD SHX Text
ROD, BACK FLAP-RH

AutoCAD SHX Text
1

AutoCAD SHX Text
05443

AutoCAD SHX Text
NUT, MODIFIED #5/8-8 (RH)

AutoCAD SHX Text
1

AutoCAD SHX Text
05444

AutoCAD SHX Text
NUT, MODIFIED #5/8-8 (LH)

AutoCAD SHX Text
1

AutoCAD SHX Text
05458

AutoCAD SHX Text
KNOB, MODIFIED

AutoCAD SHX Text
1

AutoCAD SHX Text
10216-03

AutoCAD SHX Text
SHAFT, VARIOUS-.25 DIA

AutoCAD SHX Text
2

AutoCAD SHX Text
COUP-CT/005

AutoCAD SHX Text
COUPLING, SHAFT, 1.00 x .25

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
05421

AutoCAD SHX Text
05420

AutoCAD SHX Text
WELDMENT, BRACKET-PIVOT SUPPORT

AutoCAD SHX Text
WELDMENT, PIVOT-ARM-SIDE (COMPR. FLAP)

AutoCAD SHX Text
05422

AutoCAD SHX Text
WELDMENT, ADJ. BAR-SIDE COMPRESSION

AutoCAD SHX Text
1

AutoCAD SHX Text
ROD, SIDE COMPR. FLAP-LH

AutoCAD SHX Text
05460-01

AutoCAD SHX Text
CYL-NCD/04

AutoCAD SHX Text
CYLINDER, 1.50 BORE x 6.00 STK

AutoCAD SHX Text
CYL-PIN/05

AutoCAD SHX Text
PIN, CYLINDER

AutoCAD SHX Text
FLOOR STOCK

AutoCAD SHX Text
NUT, HEX, JAM, #1/4-20

AutoCAD SHX Text
2

AutoCAD SHX Text
KP-11/27/01

AutoCAD SHX Text
COMPLETE REDESIGN

AutoCAD SHX Text
B

AutoCAD SHX Text
2

AutoCAD SHX Text
BOLT-SB5/16X2.2

AutoCAD SHX Text
SCREW, SHS, Ø5/16 x 2.25 LG (1/4-20)

AutoCAD SHX Text
2

AutoCAD SHX Text
FLOOR STOCK

AutoCAD SHX Text
WASHER, FLAT #3/8

AutoCAD SHX Text
2

AutoCAD SHX Text
5

AutoCAD SHX Text
*3

AutoCAD SHX Text
11

AutoCAD SHX Text
18

AutoCAD SHX Text
10

AutoCAD SHX Text
17

AutoCAD SHX Text
4

AutoCAD SHX Text
15

AutoCAD SHX Text
2 REQD

AutoCAD SHX Text
2 REQD

AutoCAD SHX Text
2 REQD

AutoCAD SHX Text
2 REQD

AutoCAD SHX Text
KP-3/4/02

AutoCAD SHX Text
DELETE IT. 6;IT'S 1-4 CHG(PICTURE ONLY)

AutoCAD SHX Text
C

AutoCAD SHX Text
KP-4/3/02

AutoCAD SHX Text
IT.7 WAS 05441-02;IT.12 WAS 05460-01;IT.16 WAS COUP-CT/004

AutoCAD SHX Text
D

AutoCAD SHX Text
KP-4/22/02

AutoCAD SHX Text
PICTURE CHG ONLY(IT'S 7, 8 & 12)

AutoCAD SHX Text
D1

AutoCAD SHX Text
KP-5/9/02

AutoCAD SHX Text
DEL IT. 14; IT. 13 WAS BOLT-HH04X32 & QTY WAS 1

AutoCAD SHX Text
E

AutoCAD SHX Text
F

AutoCAD SHX Text
CHG IT. 18 WAS CYL-PIN/03;ADD ITS. 21, 22

AutoCAD SHX Text
KP-6/17/02

AutoCAD SHX Text
21

AutoCAD SHX Text
22

AutoCAD SHX Text
2

AutoCAD SHX Text
21

AutoCAD SHX Text
18174

AutoCAD SHX Text
CLEVIS, TWO POSITON-SIDE

AutoCAD SHX Text
2

AutoCAD SHX Text
22

AutoCAD SHX Text
FLOOR STOCK

AutoCAD SHX Text
NUT, HEX, JAM, #7/16-14

AutoCAD SHX Text
KP-8/9/02

AutoCAD SHX Text
ADD ITEM NUMBER TO TITLE BLOCK

AutoCAD SHX Text
F1

AutoCAD SHX Text
23

AutoCAD SHX Text
1

AutoCAD SHX Text
18192

AutoCAD SHX Text
BRACKET, HT ADJ

AutoCAD SHX Text
G

AutoCAD SHX Text
ADD ITEM 23

AutoCAD SHX Text
KP-9/20/02

AutoCAD SHX Text
SWITCH, AUTO, 24V

AutoCAD SHX Text
CLAMP, BAND

AutoCAD SHX Text
26

AutoCAD SHX Text
25

AutoCAD SHX Text
4

AutoCAD SHX Text
2

AutoCAD SHX Text
SWITCH-BAN/01

AutoCAD SHX Text
SWITCH-DH7CL

AutoCAD SHX Text
24

AutoCAD SHX Text
FLOW-FCAS/03

AutoCAD SHX Text
CONTROL, FLOW, 1/8NPT x 1/4t

AutoCAD SHX Text
2

AutoCAD SHX Text
4 REQD

AutoCAD SHX Text
24

AutoCAD SHX Text
26

AutoCAD SHX Text
25

AutoCAD SHX Text
2 EA

AutoCAD SHX Text
H

AutoCAD SHX Text
ADD IT'S 24-28 & NOTE 1;IT. 19 QTY WAS 2

AutoCAD SHX Text
KP-03/03/03

AutoCAD SHX Text
2 REQD

AutoCAD SHX Text
2 REQD

AutoCAD SHX Text
SCREW, SET- CUP PT, 1/4-20 x 3.00LG

AutoCAD SHX Text
BOLT-SS1/4X3

AutoCAD SHX Text
27

AutoCAD SHX Text
3

AutoCAD SHX Text
SCREW, SHS, Ø.375 x 1.00 (5/16-18)

AutoCAD SHX Text
FLOOR STOCK

AutoCAD SHX Text
29

AutoCAD SHX Text
2

AutoCAD SHX Text
KP-5/12/03

AutoCAD SHX Text
ADD IT. 29

AutoCAD SHX Text
J

AutoCAD SHX Text
2 REQD

AutoCAD SHX Text
29

AutoCAD SHX Text
KP-3/21/05

AutoCAD SHX Text
K

AutoCAD SHX Text
DEL. IT. 1-UPDATE VWS;SEE SHT. 2

AutoCAD SHX Text
KP-3/26/08

AutoCAD SHX Text
K1

AutoCAD SHX Text
SEE SHT. 2

AutoCAD SHX Text
KP-7/28/09

AutoCAD SHX Text
PICTURE CHG ONLY - UPDATED IT. 3

AutoCAD SHX Text
K2

AutoCAD SHX Text
N:\MECHDWGS\DWGS\

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
FILENAME:

AutoCAD SHX Text
THIRD ANGLE PROJECTION

AutoCAD SHX Text
THE MATERIAL CONTAINED

AutoCAD SHX Text
HEREIN IS PROPRIETARY

AutoCAD SHX Text
TO REELEX PKG SOL'S, INC.

AutoCAD SHX Text
AND SHALL NOT BE

AutoCAD SHX Text
REPRODUCED, DISCLOSED

AutoCAD SHX Text
OR USED FOR ANY OTHER

AutoCAD SHX Text
PURPOSE WITHOUT THE

AutoCAD SHX Text
WRITTEN APPROVAL OF

AutoCAD SHX Text
SIZE

AutoCAD SHX Text
REV.

AutoCAD SHX Text
SHEET    OF

AutoCAD SHX Text
DATE

AutoCAD SHX Text
DRAWN

AutoCAD SHX Text
PART/DWG NO.

AutoCAD SHX Text
39 JON BARRETT RD

AutoCAD SHX Text
PATTERSON, NY 12563

AutoCAD SHX Text
T:845.878.7878

AutoCAD SHX Text
F:845.878.7884

AutoCAD SHX Text
WWW.REELEX.COM

AutoCAD SHX Text
REELEX PKG SOL'S, INC.

AutoCAD SHX Text
05052

AutoCAD SHX Text
M

AutoCAD SHX Text
05052

AutoCAD SHX Text
KP

AutoCAD SHX Text
11/15/01

AutoCAD SHX Text
1/2

AutoCAD SHX Text
KP-6/21/18

AutoCAD SHX Text
IT.27 QTY WAS 1;DEL ITs 13 & 28 (ECO R-0416)

AutoCAD SHX Text
L

AutoCAD SHX Text
2 REQD SEE NOTE 2

AutoCAD SHX Text
NOTES: 1. ITEM 25 NOT SHOWN FOR CLARITY. ITEM 25 NOT SHOWN FOR CLARITY. 2. IF UPGRADING TO AIR TUBE, ITEM 3 IF UPGRADING TO AIR TUBE, ITEM 3 MUST BE REPLACED BY 50422 (QTY. 2).

AutoCAD SHX Text
KP-5/26/20

AutoCAD SHX Text
ADD NOTE 2 (ECO R-0745)

AutoCAD SHX Text
M


REVISIONS
ZONE| REV DESCRIPTION BY/DAE
H_|SEE SHT. 1 KP—03/03/03
J_[SEE sHT. 1 KP—5/12/03
K |UPDATE VWS—DEL IT, 1;SEE SHT. 1 KP—3/21/05
K1 | CORRECT BALLOON KP—3/26/08
K2 |UPDATE VIEWS KP—7/28/09
1 L [IT.27 QTY WAS 1;DEL ITs 13 & 28 (ECO R—0416) KP—6/21/18 | 1
M |SEE SHT 1 (ECD R—0745) KP—5/29/20

@ DETAIL A
SCALE: 1/.75

REF

=1 |- E REF

“ 65/ REF@g ST SO WRE-EX g mnum
HEREIN 1S PROPRIETARY s WY 12585
4 REF 16 REELEX PRS SO S NG, il e
AND SHALL NOT BE VAMREELEX.COM

N PACKAGING SOLUTIONS INC.
(19) gEFRoRUCED, DRALGSD  [COMPRESSION FLAP ASSY—
WRIITEN: APPROVAL OF SIDE (BOX TABLE)
@ 3 REQD RECLEX PRE. SOLor INC. » COMPRESS—FLAP /S”

-@9— -E- s||:z)E |PART/DWG No.

REV.
THIRD_ANGLE PROJECTION 05052 M
FILENAME: N; \MECHDWGS\DWGS\05052 | SCALE 1/3  [ORAWN KP  DATE 11/15/01 [SHEET 2 OF 2



AutoCAD SHX Text
D

AutoCAD SHX Text
E

AutoCAD SHX Text
C

AutoCAD SHX Text
B

AutoCAD SHX Text
A

AutoCAD SHX Text
C

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
B

AutoCAD SHX Text
A

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
ZONE

AutoCAD SHX Text
REV

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
BY/DATE

AutoCAD SHX Text
KP-03/03/03

AutoCAD SHX Text
D

AutoCAD SHX Text
7

AutoCAD SHX Text
17

AutoCAD SHX Text
10

AutoCAD SHX Text
8

AutoCAD SHX Text
11

AutoCAD SHX Text
22

AutoCAD SHX Text
3

AutoCAD SHX Text
12

AutoCAD SHX Text
3

AutoCAD SHX Text
16

AutoCAD SHX Text
9

AutoCAD SHX Text
18

AutoCAD SHX Text
3

AutoCAD SHX Text
15

AutoCAD SHX Text
9

AutoCAD SHX Text
2

AutoCAD SHX Text
5

AutoCAD SHX Text
15

AutoCAD SHX Text
8

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
11

AutoCAD SHX Text
20

AutoCAD SHX Text
16

AutoCAD SHX Text
19

AutoCAD SHX Text
8

AutoCAD SHX Text
REF

AutoCAD SHX Text
REF

AutoCAD SHX Text
REF

AutoCAD SHX Text
REF

AutoCAD SHX Text
REF

AutoCAD SHX Text
REF

AutoCAD SHX Text
2 REQD

AutoCAD SHX Text
REF

AutoCAD SHX Text
REF

AutoCAD SHX Text
REF

AutoCAD SHX Text
REF

AutoCAD SHX Text
REF

AutoCAD SHX Text
REF

AutoCAD SHX Text
REF

AutoCAD SHX Text
REF

AutoCAD SHX Text
REF

AutoCAD SHX Text
REF

AutoCAD SHX Text
REF

AutoCAD SHX Text
2

AutoCAD SHX Text
REF

AutoCAD SHX Text
19

AutoCAD SHX Text
27

AutoCAD SHX Text
21

AutoCAD SHX Text
18

AutoCAD SHX Text
22

AutoCAD SHX Text
21

AutoCAD SHX Text
REF

AutoCAD SHX Text
COMPRESSION FLAP ASSY- SIDE (BOX TABLE) "COMPRESS-FLAP/S"

AutoCAD SHX Text
19

AutoCAD SHX Text
23

AutoCAD SHX Text
REF

AutoCAD SHX Text
H

AutoCAD SHX Text
SEE SHT. 1

AutoCAD SHX Text
24

AutoCAD SHX Text
REF

AutoCAD SHX Text
KP-5/12/03

AutoCAD SHX Text
SEE SHT. 1

AutoCAD SHX Text
J

AutoCAD SHX Text
REF

AutoCAD SHX Text
29

AutoCAD SHX Text
KP-3/21/05

AutoCAD SHX Text
K

AutoCAD SHX Text
UPDATE VWS-DEL IT, 1;SEE SHT. 1

AutoCAD SHX Text
KP-3/26/08

AutoCAD SHX Text
K1

AutoCAD SHX Text
CORRECT BALLOON

AutoCAD SHX Text
REF

AutoCAD SHX Text
KP-7/28/09

AutoCAD SHX Text
K2

AutoCAD SHX Text
UPDATE VIEWS

AutoCAD SHX Text
SCALE: 1/.75

AutoCAD SHX Text
N:\MECHDWGS\DWGS\

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
FILENAME:

AutoCAD SHX Text
THIRD ANGLE PROJECTION

AutoCAD SHX Text
THE MATERIAL CONTAINED

AutoCAD SHX Text
HEREIN IS PROPRIETARY

AutoCAD SHX Text
TO REELEX PKG SOL'S, INC.

AutoCAD SHX Text
AND SHALL NOT BE

AutoCAD SHX Text
REPRODUCED, DISCLOSED

AutoCAD SHX Text
OR USED FOR ANY OTHER

AutoCAD SHX Text
PURPOSE WITHOUT THE

AutoCAD SHX Text
WRITTEN APPROVAL OF

AutoCAD SHX Text
SIZE

AutoCAD SHX Text
REV.

AutoCAD SHX Text
SHEET    OF

AutoCAD SHX Text
DATE

AutoCAD SHX Text
DRAWN

AutoCAD SHX Text
PART/DWG NO.

AutoCAD SHX Text
39 JON BARRETT RD

AutoCAD SHX Text
PATTERSON, NY 12563

AutoCAD SHX Text
T:845.878.7878

AutoCAD SHX Text
F:845.878.7884

AutoCAD SHX Text
WWW.REELEX.COM

AutoCAD SHX Text
REELEX PKG SOL'S, INC.

AutoCAD SHX Text
05052

AutoCAD SHX Text
M

AutoCAD SHX Text
05052

AutoCAD SHX Text
KP

AutoCAD SHX Text
11/15/01

AutoCAD SHX Text
1/3

AutoCAD SHX Text
KP-6/21/18

AutoCAD SHX Text
L

AutoCAD SHX Text
IT.27 QTY WAS 1;DEL ITs 13 & 28 (ECO R-0416)

AutoCAD SHX Text
3 REQD

AutoCAD SHX Text
KP-5/29/20

AutoCAD SHX Text
M

AutoCAD SHX Text
SEE SHT 1 (ECO R-0745)


	Sheets and Views
	05052-SHT. 1
	A

	05052-SHT. 2
	A



